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Variables 2

5 independent variables. Different choices S fixed mmp fp binned

((9, go) Angles of the eta in GJ/helicity frame
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do //dt dsw‘M|2
dtndm% 2mpE1ab

A = A(s, 8pp, m )(t_ tp)(tp _t;)

= \(p, mfm, 0)(S7p — Sap)(Smp — S;TLp)

It defines the boundaries




Phase Space :

Elab = 8.5 GeV do _ _ / / dty dswp‘ M2
dtndm% ZmpElab

A = A(8, 8yp,m )(t_ tp)(tp _t;)
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S Blue lines 1My, = 1.6 GeV

% 6 Redlines Mpyr = 3.0 GeV
4 Dashed lines ¢, = 0.1 GeV?
2 Solid lines t"? = —1.5 G6V2




Exchanges ‘<

Neutral in blue
Charged in red

Axial-vector exchanges
b1 and h1
have been ignored
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Amplitude

g n
atr) AT — ﬁ(t’n)ﬁ(tp)
7.‘.0
Oé(tp) a(ty) co(ty)—a(ty) N . .
p D [8 Sﬂp V(tnv tp) + V(tp7 t"'?) S (tp)sm(rt??) (tp)]

A = B(t,)(t,)

[Sa(tw)s%tp)—a(tw) V(tn,t,) + V(ty, tx) Sa(tp)sgitw)—a(tp)]




Amplitude Neutral Pion

Alpha are known and phases of beta are known
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Amplitude Charged Pion a

8 n Alpha are known and phases of beta are known
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